

# 16. jurisdiction derivate

Kertausta:

$$a^{-m} = \frac{1}{a^m}$$

$$a^{\frac{1}{m}} = \sqrt[m]{a}$$

$$a^{\frac{k}{m}} = \sqrt[m]{a^k} = (\sqrt[m]{a})^k$$

} murtopotenssi

$$Dx^m = m \cdot x^{m-1}$$

$$D(f(x))^m = m (f(x))^{m-1} \cdot f'(x)$$

Esim.  $D\sqrt{x} = Dx^{\frac{1}{2}} = \frac{1}{2} x^{-\frac{1}{2}} = \frac{1}{2} \cdot \frac{1}{x^{\frac{1}{2}}} = \frac{1}{2} \cdot \frac{1}{\sqrt{x}} = \frac{1}{2\sqrt{x}}$

yleisesti

$$Dx^n = n x^{n-1}, n \in \mathbb{R}, x > 0$$

$$D(f(x))^n = n (f(x))^{n-1} \cdot f'(x), n \in \mathbb{R}, f(x) > 0$$

16.2 a)  $f(x) = \sqrt[3]{x^2-5} = (x^2-5)^{\frac{1}{3}}, x \neq \pm\sqrt{5}$

$$f'(x) = \frac{1}{3} (x^2-5)^{\frac{1}{3}-1} \cdot 2x$$

$$= \frac{1}{3} (x^2-5)^{-\frac{2}{3}} \cdot 2x = \frac{1}{3} \cdot \frac{1}{(x^2-5)^{\frac{2}{3}}} \cdot 2x$$

$$= \frac{2x}{3 \cdot \sqrt[3]{(x^2-5)^2}}$$

$$\left[ \begin{aligned} \frac{1}{3}-1 &= \frac{1}{3}-\frac{3}{3} = \frac{1-3}{3} \\ &= \frac{-2}{3} = -\frac{2}{3} \end{aligned} \right]$$

b)  $g(x) = \sqrt{8x-1} = (8x-1)^{\frac{1}{2}}, x > \frac{1}{8}$

$$g'(x) = \frac{1}{2} (8x-1)^{\frac{1}{2}-1} \cdot 8 = 4 (8x-1)^{-\frac{1}{2}}$$

$$= 4 \cdot \frac{1}{(8x-1)^{\frac{1}{2}}} = \frac{4}{\sqrt{8x-1}}, x > \frac{1}{8}$$

16.7  $y = x \cdot \sqrt[3]{x^2-3} = x \cdot (x^2-3)^{\frac{1}{3}}$

$x = -2$ :  $y = -2 \cdot \sqrt[3]{(-2)^2-3} = -2 \cdot \sqrt[3]{4-3} = -2 \cdot \sqrt[3]{1} = -2 \cdot 1 = -2$

$$y' = 1 \cdot (x^2-3)^{\frac{1}{3}} + x \cdot \frac{1}{3} (x^2-3)^{\frac{1}{3}-1} \cdot 2x$$

$$k_t = y'(-2) = ((-2)^2-3)^{\frac{1}{3}} - 2 \cdot \frac{1}{3} \cdot ((-2)^2-3)^{-\frac{2}{3}} \cdot 2 \cdot (-2)$$

